

$$\text{conc}(\text{dom } h - \text{dom } B) = \overline{\text{span}(\text{dom } h - \text{dom } B)} \Rightarrow h+B: \text{maximally monotone}$$

Proof: fact. $A \subseteq B \Rightarrow \text{cone}(A) \subseteq \text{cone}(B)$, also, $\forall C \subseteq \mathbb{R}^n$, $\text{cone}(C) \subseteq \overline{\text{span } C}$

Proposition 12.4. (Intervening domain of a maximally monotone operator via Fitzpatrick function)

[A, $\gamma \in \mathbb{R}^n$, maximally monotone
 $\Phi_A(\gamma) = \inf_{x \in \mathbb{R}^n} \langle \gamma, x \rangle - A(x) = \infty$]

$\inf \text{dom } A \leq \inf \Phi_A(\text{dom } F_A) \leq \inf A \leq \Phi_A(\text{dom } F_A) \leq \overline{\text{dom}} A$

$\inf \text{dom } A = \inf \Phi_A(\text{dom } F_A)$

$\overline{\text{dom}} A = \overline{\Phi_A(\text{dom } F_A)}$

so, $\text{con}_V(Q_1(\text{dom } F_A - \text{dom } F_B)) = \overline{\text{span}}(Q_1(\text{dom } F_A - \text{dom } F_B))$

$\rightarrow \forall x \in \text{supp}(f) \setminus (\text{dom } F_A - \text{dom } F_B)$

So, $A+B$: maximally monotone \square

(i) $\text{dom } B = \mathcal{H}$

(ii) $\text{dom } A \cap \text{int dom } B \neq \emptyset$

(iii) $\text{oint}(\text{dom } A - \text{dom } B)$

(iv) $\forall x \in H \exists e \in R_H \quad [0, ex] \subseteq \text{dom } A - \text{dom } B$

(v) $\text{dom } A, \text{dom } B: \text{convex}, \text{Desri}(\text{dom } A - \text{dom } B) \Rightarrow A+B: \text{maximally monotone}$

Proof:

 $\text{dom } B = \mathcal{H} \quad \text{by (i)}$
$$\leftrightarrow \forall x \in \mathcal{H} \quad Bx \neq \emptyset$$

$\Rightarrow \text{int dom } g = H$ / as H is both open and closed

then $\text{dom } A \cap \text{dom } B = \text{dom } A \cap \emptyset \neq \emptyset$ / $\text{dom } A \neq \emptyset$ /
/ this is (ii) + /

int dom B = H \Rightarrow dom A \subset dom B

$$C := \text{dom} A - \text{dom} B = \{x - y \mid Ax \neq \emptyset, y \in H\}. \text{ note that no matter what } 0 \in C \text{ as } y \in H$$

note that $C = \mathbb{H}$ as $\forall z \in \mathbb{H}$ setting $y = -z + x$ will give $x - y = z - (-z + x) = z$
so, $\text{int } C = \mathbb{H} \rightarrow 0 \in \text{int } C = \text{int}(\text{dom } A - \text{dom } B)$ / this is (iii) #1

as $\text{dom} A - \text{dom} B = H \Rightarrow \forall_{i \in H} \forall_{x \in \mathbb{R}_+} [0, x] \subseteq \text{dom} A - \text{dom} B$ / + this is (ii) \neq

clearly (iv) $\Rightarrow \text{conc}(\text{dom} A - \text{dom} B) = \overline{\text{span}(\text{dom} A - \text{dom} B)} \Rightarrow A+B$ maximally monotone

* using Theorem 24.3: $[A, B: \text{maximally monotone} : \mathbb{H} \rightarrow \mathbb{H}^*]$; $\text{cone}(\text{dom } A - \text{dom } B) = \overline{\text{span}(\text{dom } A - \text{dom } B)}$ $A+B: \text{maximally monotone}$ *

now consider iv): $\text{dom} A, \text{dom} B$ convex. $\text{vec}(\text{dom} A - \text{dom} B)$ / recall: $\text{str} C = \{x \in C \mid \text{cone}(C-x) = \overline{\text{span}}(C-x)\}$ ✓

$$\Leftrightarrow \text{lone}(\text{dom } A - \text{dom } B) = \overline{\text{span}(\text{dom } A - \text{dom } B)}$$

$$\Rightarrow A+B : \text{maximally monotone}$$

4. A: Uniformly monotone with modulus Φ as Q : increasing, vanishes only at 0. $\forall x, y, u, v \in \mathbb{R}^n$ $(x-y) \cdot (u-v) \geq \Phi(|x-y|)$

Example 24.11: $A: \mathbb{H}^2 \rightarrow \mathbb{H}^2$, maximally monotone, uniformly monotone with supercoercive modulus Φ . $A: \mathbb{H}^2$ monotone $\stackrel{\text{def}}{\iff} \text{dom } A \times \text{ran } A \subseteq \text{dom } \Phi$.

Proof: Set $(x, u) \in \text{gra } A$, $w \in \mathcal{H}$.

$$\gamma := \|w - u\|, \quad \psi: \mathbb{R}_+ \rightarrow [-\infty, +\infty]: t \mapsto \gamma t - \phi(t)$$

fixed for fixed x , y $\Rightarrow y(t) = x - \frac{y(x)}{t} \Rightarrow y(0) = x - \frac{y(x)}{0} = 0$
 $\Rightarrow \lim_{t \rightarrow 0} y(t) = \lim_{t \rightarrow 0} x - \frac{y(x)}{\frac{1}{t}} \quad / \text{ recall that, if } \lim_{x \rightarrow 0} f(x), \lim_{x \rightarrow 0} g(x) \text{ exists } \Rightarrow \lim_{x \rightarrow 0} f(x)g(x) = \lim_{x \rightarrow 0} f(x) \lim_{x \rightarrow 0} g(x) \neq$

Now, as $\lim_{t \rightarrow \infty} \frac{D(t)}{t} = +\infty$, $\lim_{t \rightarrow +\infty} t = +\infty \Rightarrow \lim_{t \rightarrow +\infty} g(t) = +\infty$ ($x \rightarrow \infty$) = $-\infty$

Thus from the figure, $\sup_{t \in \mathbb{R}} \psi(t) = \sup_{t \in \mathbb{R}} \psi(t) \leq 2\gamma - 2\gamma = 0$

$$\Rightarrow \sup_{t \in [0, \infty)} g(t) = \sup_{t \in [0, 7]} g(t) \leq 71 - 4(7) \quad / \text{ now } g(7) = 0. \text{ and increasing } \therefore \forall_{t \in [7, \infty)} g(t) \geq 0, \text{ so}$$

$\{x \in \mathbb{Z} : x \equiv 1 \pmod{2}\}$ (odd integers)
 $\{x \in \mathbb{Z} : x \equiv 0 \pmod{2}\}$ (even integers)

[illegible]

(2nd) SCHWARZ inequality: $\{x(y)\} \in [0, 1] \times [0, 1]$
 $\max \{x(y), -x(y)\}$
 $\begin{cases} \text{Fiber 1: } x(y) \in [0, 1] \cap [0] \\ \text{Fiber 2: } -x(y) \in [0, 1] \cap [0] \end{cases}$

- (i) $A, B: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone
 (ii) $\text{dom } A \subseteq \text{dom } B, B: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone \Rightarrow

$\text{ran } (A+B) = \text{ran } A + \text{ran } B$
 $\text{int } \text{ran } (A+B) = \text{int } (\text{ran } A + \text{ran } B)$

PROOF: From SIMON'S theorem

Theorem 24.23 (Simon)
 $[A, B: \text{monotone}, H \in \mathbb{R}^m, A+B: \text{maximally monotone}]$
 $\forall u \in \text{ran } A \quad \forall v \in \text{ran } B \quad \exists x \in H \quad (x, u) \in \text{dom } A \wedge (x, v) \in \text{dom } B$
 $\Rightarrow \text{ran } (A+B) = \text{ran } A + \text{ran } B, \quad \text{int } \text{ran } (A+B) = \text{int } (\text{ran } A + \text{ran } B)$

so we can prove $\forall u \in \text{ran } A \quad \forall v \in \text{ran } B \quad \exists x \in H \quad (x, u) \in \text{dom } A \wedge (x, v) \in \text{dom } B$

Then SIMON'S theorem will take us to the goal.

suppose antecedent (i) holds: i.e., $A, B: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone

$\stackrel{\text{def}}{\Rightarrow} \text{dom } A \times \text{ran } A \subseteq \text{dom } F_A, \text{dom } B \times \text{ran } B \subseteq \text{dom } F_B$

take any $(u, v): u \in \text{ran } A, v \in \text{ran } B$

$A+B: \text{maximally monotone} \Rightarrow \text{gra } (A+B): \text{nonempty} \Rightarrow \text{dom } (A+B): \text{nonempty}$

$\Leftrightarrow \exists x \in H \quad (A+B)x = Ax+Bx \neq \emptyset$

$\Rightarrow \exists x \in \text{dom } A \cap \text{dom } B$

$\therefore \forall u \in \text{ran } A \quad \forall v \in \text{ran } B \quad \exists x: x \in \text{dom } A \cap \text{dom } B, (x, u) \in \text{dom } A \times \text{ran } A, (x, v) \in \text{dom } B \times \text{ran } B$
 $\subseteq \text{dom } F_A \quad \subseteq \text{dom } F_B$

Proposition 24.21 (Fitzpatrick function of monotone operator)
 Let $A: \mathbb{R}^n \rightarrow \mathbb{R}^m$ be a monotone operator. Then $f_A(x) = \sup_{y \in Ay} \langle x, y \rangle$ is the Fitzpatrick function of A .
 (i) $f_A(x) \leq 0 \Leftrightarrow x \in \text{dom } A$
 (ii) $f_A(x) = 0 \Leftrightarrow x \in \text{ran } A$
 (iii) $f_A(x) = \infty \Leftrightarrow x \in \text{dom } A \cap \text{ran } A$

now suppose antecedent (ii) holds:

$\forall u \in \text{ran } A$

$\exists x \in H \quad Ax = u \Rightarrow x \in \text{dom } A$

$\therefore \forall u \in \text{ran } A \quad \exists x \in \text{dom } A \quad (x, u) \in \text{gra } A$

$\subseteq \text{dom } F_A$

$\therefore \forall u \in \text{ran } A \quad \exists x \in \text{dom } A \quad (x, u) \in \text{dom } F_A$

now, $x \in \text{dom } A \subseteq \text{dom } B$ // given

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } B \times \text{ran } B \subseteq \text{dom } F_B$ // $B: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

$\therefore \forall v \in \text{ran } B \quad (x, v) \in \text{dom } F_B$

Corollary 24.23.

$[A, B: \text{maximally monotone}, H \in \mathbb{R}^m, A+B: \text{maximally monotone}]$

$B: \text{uniformly monotone with a supercoercive modulus } \Phi$

One of the following holds:

(i) $A: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone

(ii) $\text{dom } A \subseteq \text{dom } B \Rightarrow$

(i) $\text{ran } (A+B) = H$

(ii) $\text{zer } (A+B): \text{singleton}$

PROOF:

By

Proposition 24.22
 $[A: \mathbb{R}^n \rightarrow \mathbb{R}^m, \text{maximally monotone, one of the following holds}]$
 $\left[\begin{array}{l} A: \text{uniformly monotone with a supercoercive modulus} \\ A: \text{strongly monotone} \end{array} \right]$
 $\text{ran } A = \mathbb{R}^m \Leftrightarrow \inf_{x \in H} \|Ax\| = +\infty, \quad A: \text{surjective} \Leftrightarrow \forall y \in \mathbb{R}^m \quad \exists x \in H \quad Ax = y$

Proposition 24.24
 $[A: \mathbb{R}^n \rightarrow \mathbb{R}^m, \text{maximally monotone, uniformly monotone with supercoercive modulus } \Phi]$
 $\Phi \geq 0, \quad \Phi(0) = 0, \quad \Phi(t) \rightarrow +\infty \text{ as } t \rightarrow +\infty$
 $\Rightarrow A: \mathbb{R}^n \rightarrow \mathbb{R}^m$ is s^* -monotone.

setting $\tilde{A} := B$

$B: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone, surjective (onto)

Corollary 24.23
 $[A, B: \text{monotone}, H \in \mathbb{R}^m, A+B: \text{maximally monotone}, A \text{ or } B: \text{surjective}]$
 one of the following holds: (i) $A, B: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone, (ii) $\text{dom } A \subseteq \text{dom } B, B: \mathbb{R}^n \rightarrow \mathbb{R}^m$ monotone
 $\Rightarrow A+B: \text{surjective}$

± given (i) v (ii)

$\Rightarrow A+B: \text{surjective} \Leftrightarrow \text{ran } (A+B) = H$

(ii) $B: \text{uniformly monotone} \Rightarrow B: \text{strictly monotone}$

$A: \text{monotone}$

$A+B: \text{strictly monotone}$

Proposition 24.25
 $[A: \mathbb{R}^n \rightarrow \mathbb{R}^m, \text{strictly monotone}] \Rightarrow \text{zer } A: \text{almost a singleton}$

$\text{zer } (A+B): \text{singleton (as } \text{zer } (A+B) \neq \emptyset \text{ by (i))}$

Parallel sum of resolvents:

Proposition 24.28.

$[A, B: \text{monotone operators}, H \in \mathbb{R}^m, A+B: \text{maximally monotone}]$

$J_A \square J_B = J_{\frac{1}{2}(A+B)}$

Part 2

12:38 PM

Proposition 24.26.

$[A: \mathcal{H} \rightarrow \mathcal{H}, \text{atmost single valued},$

$B: \mathcal{H} \rightarrow \mathcal{H}, \text{linear}]$

$$A \square B = A(A+B)^{-1}B$$

Proof:

$$\forall (x, u) \in \mathcal{H} \times \mathcal{H}$$

$$(x, u) \in \text{gra}(A \square B) \quad / * \quad A \square B = (A^{-1} + B^{-1})^{-1}$$

$$\Leftrightarrow (A \square B)x \ni u \Leftrightarrow (A^{-1} + B^{-1})^{-1}x \ni u$$

$$\Leftrightarrow x \in (A^{-1} + B^{-1})u = A^{-1}u + B^{-1}u$$

$$\Leftrightarrow \exists y \in \mathcal{H} \quad y \in A^{-1}u \wedge x \in y + B^{-1}u$$

$$\Leftrightarrow \exists y \in \mathcal{H} \quad y \in A^{-1}u \wedge x - y \in B^{-1}u$$

$$\Leftrightarrow Ay \ni u \wedge B(x - y) \ni u \quad / * \quad A: \text{atmost single valued} \therefore Ay = u$$

$$\Leftrightarrow u = Ay = Bx - By \quad B: \mathcal{H} \rightarrow \mathcal{H}, \text{linear} \therefore B(x - y) = u \quad */$$

$$\Leftrightarrow u = Ay, \quad Ay + By = (A + B)y = Bx$$

$$\Leftrightarrow u = Ay, \quad y \in (A + B)^{-1}Bx$$

$$\Leftrightarrow u = Ay \in A(A + B)^{-1}Bx$$

$$\Leftrightarrow (x, u) \in \text{gra}(A(A + B)^{-1}B)$$

$$\therefore (A \square B) = A(A + B)^{-1}B \quad \square$$